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 XII MATHS TEST ON DERIVATIVES AND ITS APPLICATION
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Q2.  find the value of a and b if the function 
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Q3. Find dy/dx if a) y= xtan     b) 
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Q5. If y = a(sin t - t cos t) & x = a (cos t + t sin t) find 2

2

dx

yd
                                                                                     4

Q6.     0ym-xyy1x prove then ,1y If 2
12

2
m

2  xx

Q7. 21-

22

22
1- cos  w.r.t.

11

11
cot ateDifferenti x

xx

xx















                                                                                                   4

Q8. Show that the normal at any point   to the curve x = a cos  + a  + sin ; y=a sin -a  cos  is at a
       constant distance from origin.                                                                               4
Q9. Show that the curves 2x = y 2  and 2xy = k cut at right angles if k 2 =8.                                                              4

Q10. For the curve 53 24 xxy   find all the points at which the tangent passes through origin.                                 4

Q11. Find the intervals in which the function f given by f(x) 
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